CHM152 Quiz#4 25Pts Fall 2010 Name: R €y
SHOW ALL WORK TO RECEIVE CREDIY.
1. (3Pts) The formation of ammonia from elemental nitrogen and hydrogen is an exothermic process.

Na(g) + 3 Ha(g) == 2 NHs(g) H=-922k

Which of the following would drive the equilibrium system to the left?
a. addition of hydrogen b. removal of ammonia  c¢. increasing the pressure

d. decreasing the temperature @ removal of nitgg@

2. (3Pts) In the following reaction: H,S(aq) + H,O(¢) == HS'(aq) + H;O'(aq)
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H,0 is an acid and H,S is its conjugate base.
H,S i is an a01d and H,O i 1s 1ts conJugate base.
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4. (3Pts) Whatis the pH of 0.094 M HCI at 25°C?

f‘b‘\'!“my O Heas g0 =2 HyeT+ C™ ﬂ~2¢7@07ﬂ 202—'

N’

,
ey eI L

W

. (3Pts) Whatis the pH of 1. 3 x 10 M NaOH at 25°C?

Sfl"uﬁ 5 Ase Ne OA '—9 Nq/ _‘,OH ?0 "’LO;(/?)(/O SD: L/,?? Pﬁ: 9'”

6. (5Pts) Benzoic acid (HCsHsCOO) has a pK, value of 4.20. Determine the pH of a 0.12 M benzoic acid
solution.
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7. (5Pts) The pH of 0.010 M trimethylamine, (CH3);N is 10.88, What is the value of K|, for this base? (hint:

pOH) _ xl
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